

2024-2-223261 - E-Rate 2024

Quote # Trace3.109104.v1

Prepared for:

Powell County Board of Education

Ashley Randall ashley.randall@powell.kyschools.us



Additional Information

Trace3, LLC SPIN: 143051576 CISCO KETS Contract Number: #758 2100000651

Bowen Elementary

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	22	CW9166I-MR	Catalyst 9166I AP (W6E, tri-band 4x4) w/MERAKI	\$501.50	\$11,033.00
2	22	LIC-ENT-5YR	Meraki MR Enterprise License, 5YR	\$191.92	\$4,222.24
3	22	STI-INS-AP	AP Installation - Physical installation of a single Wir	\$107.14	\$2,357.08

\$17,612.32 Subtotal:

Clay City Elementary

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	44	CW9166I-MR	Catalyst 9166I AP (W6E, tri-band 4x4) w/MERAKI	\$501.50	\$22,066.00
2	44	LIC-ENT-5YR	Meraki MR Enterprise License, 5YR	\$191.92	\$8,444.48
3	44	STI-INS-AP	AP Installation - Physical installation of a single Wir	\$107.14	\$4,714.16

Subtotal: \$35,224.64

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	32	CW9166I-MR	Catalyst 9166I AP (W6E, tri-band 4x4) w/MERAKI	\$501.50	\$16,048.00
2	32	LIC-ENT-5YR	Meraki MR Enterprise License, 5YR	\$191.92	\$6,141.44
3	32	STI-INS-AP	AP Installation - Physical installation of a single Wir	\$107.14	\$3,428.48

Subtotal: \$25,617.92

Powell County Middle

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	44	CW9166I-MR	Catalyst 9166I AP (W6E, tri-band 4x4) w/MERAKI	\$501.50	\$22,066.00
2	44	LIC-ENT-5YR	Meraki MR Enterprise License, 5YR	\$191.92	\$8,444.48
3	44	STI-INS-AP	AP Installation - Physical installation of a single Wir	\$107.14	\$4,714.16

Subtotal: \$35,224.64

Powell County High

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	54	CW9166I-MR	Catalyst 9166I AP (W6E, tri-band 4x4) w/MERAKI	\$501.50	\$27,081.00
2	54	LIC-ENT-5YR	Meraki MR Enterprise License, 5YR	\$191.92	\$10,363.68
3	54	STI-INS-AP	AP Installation - Physical installation of a single Wir	\$107.14	\$5,785.56

4	1	STI-INS-WK	Travel add-on per week	\$1,470.59	\$1,470.59
•				Subtotal	. \$44.700.83

Subtotal: \$44,700.83

Powell County Academy

Line #	Qty	Part Number	Product Description	Unit Price	Ext. Price
1	4	CW9166I-MR	Catalyst 9166I AP (W6E, tri-band 4x4) w/MERAKI	\$501.50	\$2,006.00
2	4	LIC-ENT-5YR	Meraki MR Enterprise License, 5YR	\$191.92	\$767.68
3	4	STI-INS-AP	AP Installation - Physical installation of a single Wir	\$107.14	\$428.56

Subtotal: \$3,202.24

2024-2-223261 - E-Rate 2024

Prepared by:

Trace3-EST

Mike Phelps mike.phelps@trace3.com Prepared for:

Powell County Board of Education

691 Breckenridge St PO Box 430

Stanton, KY 40380-2018

Ashley Randall

ashley.randall@powell.kyschools.us

Quote Information:

Trace3.109104.v1

Quote Date: 02/27/2024 Expiration Date: 03/28/2024

Quote Summary

Description	Amount
Bowen Elementary	\$17,612.32
Clay City Elementary	\$35,224.64

Stanton Elementary	 •	 \$25,617.92
Powell County Middle		\$35,224.64
Powell County High		\$44,700.83
Powell County Academy		\$3,202.24

Total: \$161,582.59

Upon client signatory's execution of this Quote, he/she affirms that:

- 1. Client will purchase and pay Trace3 for the equipment and/or services referenced above;
- 2. Without a separate written agreement signed by Trace3 and client, equipment and/or services referenced above are provided solely subject to the terms of this Quote and the applicable terms and conditions located at http://www.trace3.com/legal
- 3. He/she is authorized to accept this Quote on behalf of client and has complied with all of client's business practices in making this purchase;
- 4. Quoted amounts exclude sales taxes, which will be charged on all U.S. shipments; and
- 5. Client is responsible for submitting exemption certificates for sales tax-exempt purchases.
- 6. Use of the equipment and/or services referenced above is subject to the applicable end-user license agreement of the manufacturer.

Powell County Board of Education

Signature:		
Name:		
Title:		
Date:		